R T PROFESSIONAL EXAMINATION BOARD
Bbemminotion Police Constable Recruitment Test - 2017

board 7th Sep 2017 09:00AM

Topic:- General Knowledge and Logical Knowledge

1) Find the odd one out: / T fauw ﬂﬁﬂﬂﬁl’(’:
1. Hen and Chicken /Tﬁ\’rﬁ?ﬂ\m

2. Cow and Calf / TTIT @Tm

3. Sheep and Lamb / 'ﬂ%’ @Tﬂﬂ:ﬂ

4, Camel and Ass / $¢C GﬁT‘T?ﬂ

Correct Answer :-

« Camel and Ass/ $C GﬁTT[‘Eﬂ

2) Find the odd one out / T faud J1d Biforg:

1. 135
2.592
3.357

4. 579

Correct Answer :-

e 592

3) The positions of the second and the eighth digits of the number 39128564 are interchanged. Similarly, the
positions of the fourth and the fifth digits are interchanged. The positions of the first and the sixth digits are
interchanged and the positions of the third and the seventh digits are interchanged. Which of the following will be
the third digit to the left of 3 after the arrangement? / T 39128564 %W 3R 3fiad 3Pl &1 I gd-dad
foar ST 81 33 U, DY 3R Uid i) BT R 3ISH-ged [T SI1dT 8 1 Ugd 8fR B¢ il &1 R
Jrgd-ged f&ar 7T § 3Nk I 3R ATad 3 &1 WU Sgd-ged feaT T 81 SY HaRT H uya R A S
P 3 P FT¢ JIRIRT 3P R

1.8
2.2
3.6

4.4



Correct Answer :-

4) In a certain code language, You are watching cricket means Wa Cr Yo Ar; Cricket is a sport means Yz Sp | Ar; You
are a kid means Wa Cr Yz Ki. Which is the word for Kid in that code language? / Ut WTH HIS HTT 'l}l, You are
watching cricket BT 31 f wa crvo Ar; Cricket is a sport DT 3 A vz Sp | Ar; You are a kid BT 3 f wa cr vz ki 'bﬁ?lT %I

Y Bl HINT H kid & e fory 2reg &1 gxawTe fpam T 82
1. Ki
2. Wa
3. Yo

4. Cr

Correct Answer :-
o Ki

5) If TEACHING is coded CHEATING, then how is GRADIENT coded? /Tf¢ TEACHING @) CHEATING ¥ ®ifsd far

SITdT @, A1 GRADIENT B! $H HIfSd fohaT SITAm?
1. RGDIEANT
2. RADIGENT
3. DIRAGENT

4. DIERATING

Correct Answer :-

e DIRAGENT

6) In how many ways can 4 books be selected out of 10 books, so that the two particular books are always
excluded? / 10 TFA] A N 4 T&ID| B! faa aid A 99+ fobar o g an @ o fo &) ol qrasds wda
Jgafetd ¥l 82

1.28
2.45
3.70

4.35

Correct Answer :-

70



7) Whose birthday is celebrated as International Day of Non-Violence by the United Nations (UN)? / g ?T@

@E) BRT SRIPT Sifgwr fgaw & wu # fweT sfe 7w s 32

1. Jawahar Lal Nehru / SIdTgR dld g

2. Mahatma Gandhi / HeIHT Trieft
3. Nelson Mandela / S& Hedl
4. Martin Luther King / ATfeeT @R T

Correct Answer :-

¢ Mahatma Gandhi / HeTH] Trieft

8) Which national park has one of the highest densities of Bengal tigers known in the world? ACEcEKapkl

AU IS ST STSTRI DY S=Iad HEmaii & fore uRrs 22
1. Madhav National Park / HIYd ngﬂ'q REIE]

2. Sanjay National Park / T Tl'l?j'q DI

3. Van Vihar National Park / 9 fdgR I I

4. Bandhavgarh National Park / ST4dTTe WE:’IHB'%SIF

Correct Answer :-

« Bandhavgarh National Park / ST¢/dig TITEﬁ?JB?JFT

9) The Capital of Yadava kings was / dlgd NEIEIEIRIE U K]
1. Devagiri / CIRIR

2. Krishnagiri / m

3. Kanchipuram / Wﬁﬂ'ﬁ?‘q

4, Varanasi / JRTURIT

Correct Answer :-

e Devagiri/ Cafl

10) Akshay Kumar was conferred with the Best Actor Award at the National Film Award — 2017 for his

performance in the film ./GI&WW@' ﬁmﬁmm%mmﬁ’—ﬂm-
2017 H 9T AT & 1y FEfra fomam o

1. Jolly LL.B / Sifclt Uaidat. &t
2. Airlift / TORITHE

3. Rustom / =¥dH
4. Rowdy Rathore / I3 IR



Correct Answer :-

e Rustom / ¥xdH

11) Where is Jehangir Art Gallery found? / ST8RTR 3¢ Aed Fel WU 82
1. Chennai / aﬂi

2. Mumbai / 11‘@1‘5‘

3. Bengaluru / SR VLS
4. Delhi / feeht

Correct Answer :-

« Mumbai / §8%

12) Who administers oath of office to the Chief Justice of India? / HIRd ® ReLC) Irarefiwr a1 L' [ B YUY o

feaman 82

1. Vice-President 34 TI'E'CIﬁf
2. President / ?quﬁf

3. Law Minister / fafey 75

4, Prime Minister / THTTHAT

Correct Answer :-

e President / Tl'gl?lﬁf

13) Panditraj Jagannath was the poet laureate of which of the following rulers? / ufgarTe ey Fafefea

) A A s Ie e A2

1. Humayun / §9T14,
2. Akbar / HhaR

3. Aurangzeb / 3 @1

4. Shah Jahan / QTG

Correct Answer :-
e Shah Jahan/ Qﬂg\_ﬂﬁ
14) The President of India is elected by / ?Tg'qﬁf &l foas GIRT AT SITdT % ?

1. Legislative Assemblies Only / Rt faem gvrelf g

2. None of the above / théa\‘-r ﬁ@(aﬂ's‘qé?



3. Lok Sabha Only / Rth dieaT

4. Rajya Sabha Only / fth IrsoqyT

Correct Answer :-

¢ None of the above /G'Cléaﬂ ﬁ“@faﬁ‘s‘ﬂﬁ

15) The second Guru of the Sikhs was / Rrai & W = )]
1. Guru Arjan Dev / TR® 3@%

2. Guru Angad Dev / TR= 3Tq Gl

3. Guru Gobind Singh / & s R

4. Guru Amar Das / TR IR I

Correct Answer :-

« Guru Angad Dev / T 3{7Tq ad

16) The slogan "Jai Jawan!JaiKisan!' was coined by . /¥RT '5/9 Sar! &g {1 ' & gRT faar mar
7|

1. Bipin Chandra Pal / fafoe d Ut

2. Lal Bahadur Shastri / Il §6TgY R
3. Jawaharlal Nehru / SIATERdTd A%
4. Jawaharlal Nehru / STATgRATe g%~

Correct Answer :-
 Lal Bahadur Shastri / ¢l¢] dgTgR At

17) Chhattisgarh was carved out of Madhya Pradesh as a new state in the year . I USRI | 3eT

PO DU HIae 791 ISd ST W4T |
1. 1998
2. 1995
3. 2000

4. 2005

Correct Answer :-

« 2000



is the first woman field officer in Border Security Force (BSF). / T JRE&T 9 (dTaew) |
Y Afger a7 e g1

1. Divya Ajith Kumar/m &Wyﬂaw
2. Mohana Singh /IﬁB:[ﬁl’s'

3. Puja Thakur / SIT STPY
4. Tanushree Pareek / T‘lﬂ%ﬁ TRi%

Correct Answer :-

e Tanushree Pareek/ﬂﬂ%ﬁm

19) Hanuwantiya Island is located in the reservoir of . Baaﬁm ?ﬂ'q ETW'EI' & JaRg A
fRag

1. Maheshwar Dam / Il%%? GIE)
2. Indira Sagar Dam /g R IR §1e
3. Bansagar Dam / TR Ity

4, Chanderi Dam / aéé GI0]

Correct Answer :-

« Indira Sagar Dam /g =<} R Sy

20) Buz Bahadur palace is at / ISIdgIgR He ¢l H fRya %I
1. Ujjain / S5O

2. Indore / 33 N

3. Mandu / HIUg
4, Rewa /a1

Correct Answer :-

e Mandu/ HIUG

21) Who composed the National Song of India? / WRd & P17 1fid & Tafar &1 &2
1. Sarat Chandra Chatterjee / TRd % il

2. Bankim Chandra Chatterjee / dfed g TS

3. Harivansh Rai Bachchan / Eﬁﬂ’-‘ﬂ Y d=f+

4. Rabindranath Tagore / Wq OIPY



Correct Answer :-

e Bankim Chandra Chatterjee / dfeg g TS

22) The immortal poet Kalidasa belonged to the town of / 3THY Pfd PreligN T G IEE A
1. Ujjain / I=H

2. Indore / 3@?

3. Hoshangabad / HRRIEIC

4. Bhojpur / ‘-ﬁGﬂ}R

Correct Answer :-

e Ujjain / IS

23) Complete the series choosing the missing number: / Y& IBAT GAHY YTAT DI [T HHoIQ:
4,7,11,18, 29,47, , 123,199

1.85

2. 81

3.76

4. 69

Correct Answer :-

e 76

24) Complete the series choosing the missing number: / T JWAT TAB YT DI GRT DIToTG:
5,11,19,29,

1.45

2.41

3. 30

4. 39

Correct Answer :-
e 41
25) Complete the series choosing the missing number: / W J&AT TR y@dT E2| U0 PifoT:

5,18,10,12, 15,



1. 10
2.6

3.12

4. None of the above /Qﬁ@fﬂ'ﬂéﬁ

Correct Answer :-

26) Complete the series choosing the missing letter/s: / & &R/ 3M&RT B AB YT D GRT
PifoTe:

_sr__tr__srs__r__srst__
1.s,t,rt, s

2.t,s,1,ts,r

3.t,s, 4,4t

4. t,t,s,s,1,1

Correct Answer :-

e t,s,tttr

27) Select the option that is true about the Statements and Conclusions given:
Statements :

Some bags are boxes

All boxes are tables

Conclusions:

I. Some bags are tables

II. Some tables are boxes

/ 39 fareu &1 99 I o f 2T T ST iR fAepuf & ar & 981 8:
DY:

5o 49 afeq §

It TR AT E

e

I 35 dAAGE
II. $O A9 908 §

1. only conclusion Il follows / FHad ey || GF:NTUTW%



2. only conclusion | follows / Had ey | &WW%
3. neither conclusion | nor conclusion Il follows / - ﬁﬁ'ﬁb_ﬁf | Gﬁ? Cl 33[ ey || G@TUTW%
4, both conclusion I and II follows / fAepy 1 3R 11 G| SR A %

Correct Answer :-

« both conclusion I and II follows / FT&HY I 3R II I SERT & §

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All plates are saucers
No saucer is a cup

Conclusions:
I. No plate is a cup
II. No cup is a plate

| 39 fapeu &1 94 Fifore it f Ry T Y=Y o fAepul & IR A I8t &:
DY:

Tt e AR &

Ig QIR P TS 8

e

I. IS WCHITE 8

II. P$HYTH W T &

1. only conclusion Il follows / &Had TpY || &WW%

2. neither conclusion | nor conclusion 1l follows / q%ﬁﬁ'@lﬂf | GﬁT:{ﬁﬁ'@lﬂf 1] &WW%
3. both conclusion I and 1I follows / F&HY I 3R II I SIARTT &R §

4. only conclusion I follows / Fad spY I STTIRUT Hdl %

Correct Answer :-

« only conclusion I follows / dad fAsHY I SFIERUN BT §

29) The first recipient of Rajiv Gandhi Khel Ratna Award was / UgdT ITeiig et We I RePR A=
TSt «1 wer far war u:

1. Leander Paes / %IQ. SUg
2. Viswanathan Anand / f[9Ra=TY= 3fHg
3. Kapil Dev/ ®fUd ¢d

4, Limba Ram / foraT I9



Correct Answer :-
« Viswanathan Anand / f[9=aTU 3¢S

30) Find the odd combination of letters and numbers from among the following: / fFufafRaa # 3
3&RT TF TBATHT BT faws HAIer J1d By
i. 3257927 ii. 3259727 iii. 3257927 iv. 3257927

1. 1v

Correct Answer :-

o il

31) Who administers the Oath of office to a Chief Justice of High Court? / Tdh 3 <ITdTcd * qeq
grareier &1 ug #t Uy B fearar g ?

1. Speaker / TiHr
2. Governor / JI4Td

3. President / Tl'gq'ﬁf

4. Prime Minister / W AT

Correct Answer :-

e Governor / YUl

32) Umakant Gundecha & Ramakant Gundecha are well known ./ ETIW{[U@HT 3R
TATBIAIUSATAIZ 7

1. Hindi Poet / %_pr Hid

2. Qawwali singers / CEINIRIRED

3. Classical dancers / QRGN AP

4, Dhrupad singers / Uc TTdH

Correct Answer :-

« Dhrupad singers / {Uc 1A

33) The series given below contains a sequence of numbers. Identify the incorrect combination: /

= & 7 e §, GEmns BT TP HH IUfRU ¥ | Terd Fale TgE:



4,10, 28, 84, 244
1. 84

2.244

3.28

4.10

Correct Answer :-

- 84

34) If ACTEDis coded STUAH, then how is ACE coded? / af¢ ACTED Y STUAH A SifSd far wiTar g,
A ACE D &4 Pifed frar SRm?

1. STA
2. ATE
3. HAT

4. SUA

Correct Answer :-

« STA

35) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply

* => Division

/ => Addition

- => Equal to

= =>Minus

25/4=10/4/8/ 3?

| =i 1 eATIgEe S Y SR e 1 W A B
Tgl;

+ => U HIAT

* => faqyreH

/=>€I3FT

- =>F WR

= => BT

25/4=10/4/8/ 3?

1.34
2. 36

3.35



4.33

Correct Answer :-
e 34

36) If SHAPER is coded TGCNHO, then how is EXERCISE coded? / ¢ SHAPER & TGCNHO 9 &ifsd
forar wITaT 8, 9 EXERCISE &) 9 SIS far smavm?

1. FWGPFFWA
2. FWGPFGWZ
3. FWGQFFWA

4. FWHPFGWA

Correct Answer :-
« FWGPFFWA

37) In a certain code language, pada wada sada means good looking girl, saj sana sada means
looking for you, deka saj ren means for all students. Which is the word for youin that code
language? / T W CACRYIL ﬁ', pada wada sada 1 ardf good looking girl, saj sana sada &1 ardf
looking for you, deka saj ren &13% for all students a1 g1 59 B T H you & T 5T Tsg F1

FTATA forar T 82
1. deka
2. sada
3. sana

4, saj

Correct Answer :-

38) The first President of Indian National Congress was / WRdId IEH HIAH & Ugal Igufa &
1. A.O. Hume / T.3fT. rUH

2. W.C. Banerjee / Sﬁj\?ﬁaﬂ\_ﬁ

3. S.N. Banerjee / TH.TA. oIl

4. Dadabhai Naoroji / GIGTHTE RIS

Correct Answer :-

« W.C. Banerjee / gﬁ@aﬂ\?ﬁ



39) Select the option that is true about the Statements and Conclusions given:
Statements:

Some sparrows are kids

Some sparrows are not houses

Conclusions:

I. All houses are kids

II. All kids are sparrows

| 39 fapeu &1 9= P &t fr few e =Y o fAepuf & IR A I8t &:
DY:

7o T R §

O MATWTH
forep:

I Ot R R d

1. 9t Rgmvare

1. only conclusion Il follows / &ad G 1| &WW%

2. only conclusion | follows / Had fsay | &@TUTWT%

3. neither conclusion | nor conclusion Il follows / :T'sﬂfﬁWEfl Gﬁ?:[?)[ﬁ'&ﬁﬁ 1] &ENTUTW%
4. both conclusion | and Il follows / f&HY | 3R 11 At WW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows / T é’r s | 33? - ?3[ o || ST Y %

40) Select the option that is true about the Statements and Conclusions given:

Statements:
All pens are pencils

All pencils are erasers

Conclusions:
L. All pencils are pens

IL. All pens are erasers

/ 3 fawea &1 9g+ Bifre ot % faw T Hy= ik fewel & ar o Odl 3:
DY

It sow R &
It iR e &

e
1. 9 9Re ev &
II. 9 FaH eSS @



1. only conclusion Il follows / Had Ry || &wm%

2. only conclusion | follows / Had =pY | WW%

3. neither conclusion | nor conclusion Il follows / qﬁﬁwﬁ | eﬁwé’rﬁwﬁ I &WW%
4. both conclusion | and Il follows / fsh T | 3R 1l aﬁr C‘HWW%

Correct Answer :-

« only conclusion Il follows / Had sy || GWWT%

Topic:- Mental Ability and Mental Aptitude

1)

1 .
A can contains 20 kg of oil 3 5 kg and 12; kg are poured into 2 vessels, how much is left in the can?/ Tdh el # 20

ﬁﬁraﬁwmﬁ,sﬂ?3%ﬁﬁnﬁT12§ﬁﬁnHﬁ2mmaﬁFﬁﬁmmﬁ|ﬂa—rr#a-z‘rgl:r
et 1 A= gt £

15
W

. [
| S

4.

Correct Answer :-

=5



In the sequence shown below, which figure comes next? / =l T&d 941 &H #, Haell
FTET i € 3ET?

P DD D

s
&
[

Correct Answer :-

o

3)
If the following two squares shown below overlap, which one of the following options

is formed? / afg %= g1 @91 Jfdcaifug &g & o 9= & & &= a1 v& AFeq a=ar &7

il



Correct Answer :-

4) :
In the sequence shown below, which figure comes next? / @il f& a3 &H #H, HIeT

HTHfA Hier T 3mE?

vV E 1 O ?

T4\



U
3.
Vv

Correct Answer :-

(]

5) In what time will a train 120 m long cross an electric pole. Its speed is 54 kmph. / 120 iex Tl T a_"f

Rt ara s4 fosii/d 7, T fooTell & @) 3t foraeit ¢ & R Feft |
1.8 sec/8 9.

2. 10 sec/ 10 9.

3. 6sec/6 9.

4. 5sec/59.

Correct Answer :-

. 8sec/8@.

6) Two sums of money are in the proportion of 8 : 13. If the first sum be 48, the addition of two sums is: / forett

¢ & G NN BT SIUT 8 : 13 § | TS TS TN 48 § ol GERT TN GITI:
1. 126
2. 124
3. 128

4. 120

Correct Answer :-

7) Shyam obtained 65, 67, 76, 82 and 85 out of 100 in different subjects, what will be the average? / TUTH o

faftra faway & 100 A & 65, 67, 76, 82 3R 85 3 U §U, ST FAT 2

1. 80



2.75
3.70

4. 85

Correct Answer :-

e 75

8) Evaluate 'x' in x - 2597 = 6098 - 376. / x - 2597= 6098 - 376 § *x’ HT HI JTd PIOTC:
1. 2547
2. 5622
3. 4798

4. 8319

Correct Answer :-

« 8319

9) What is the sum of xy, 2xy, and 7xy? / xy, 2xy 3R 7xy T IR T gHI?
1. 10xy

2. 10

3. 11xy

4. 14

Correct Answer :-

10) A boat travels upstream at a speed of 6 kmph and travels downstream at a speed of 8 kmph. What is the
ratio of the speed of the stream to the speed of the boat in still water? / YIRT 31 faudia fezm o U AId P19 6
/e iR T Y fo=m & arar 8 feii/a B 1 amy ok fRR 5/a o 19 3t ifar &1 srgura w7 ghme

1.1:6
2.7:1
3.1:7

4.6:1

Correct Answer :-



11) If the sum of three consecutive even numbers is 264, then the last number of the series is: / a1 Wi 9|

TS BT AN 264 B, A 39 YT H1 Sifow 3w &:
1. 76
2. 90
3. 88

4.92

Correct Answer :-
« 90

12) If the radius of the wheel of a bus is 70 cm and its speed is 66 kmph, then the rpm (revolutions per minute) of

the wheel will be: / af¢ TP 59 & ufgd 31 fBwar 70 A, § ik 3T} a1 66 fHHl/Her 8, o ufed &1
Jmedtew ufa firmre gof) gim:

1. 200
2.250
3. 500

4. 300

Correct Answer :-
e 250

13) In a certain village, 6 women can work for 8 hr a day and finish a work in 10 days. If 10 women are working
for 6 hr a day, then how many days will they take to complete the work? / U Td ﬁ', 6 Afeard ufafe s oe o9
Fd g¢ et w3t 10 o7 o TuTE w2 At &1 afe 10 wieeard ufafeq ¢ 9 9 H9 @ 1 I g= o
feram fam wriie

1. 12.5 days / 12.5 f&71
2. 13 days/ 13 &
3. 10 days / 10 f&A

4. 8 days / 8 a1

Correct Answer :-
« 8days/8faT

14) A can do a work in 16 days and B can do the same work in 12 days, working together. What part of the work
they can finish in two days? / A T ST B 16 RA A SR BIH FW A 2 A A W R IHar g | T H
PTH B4 §U, 2 a1 7 9 fova=r w11 H= urdte

1.5/8



2.9/24
3.13

4.7/24

Correct Answer :-

o 7/24

15) The speeds of three trains are in the proportion 20 : 19 : 18. If their speeds are increased by 18%, 19% and
20% respectively, the proportion of their current speeds is: ik atﬁ CARICE] SJUTd 20:19: 18 %I afe
IAD! T HURT: 18%, 19% 3R 20% T¢ WY df IAD! AN BT ST I

1.1:1:1
2.2360:2261:2160
3.360:361:360

4.360:361:362

Correct Answer :-

e 2360 :2261:2160

16) 30 % of officers in a bank are about to retire. If the number of officers who retired are 24 ; then how many

officers are in the bank?/wa:fﬁa;%% mmﬁ%ﬂﬁ%l uﬁmﬁﬁaﬁmﬁﬁaﬁw
24 3 A S W pa fram w82

1. 100
2. 80
3. 60

4. 65

Correct Answer :-

17) During a celebration,405 toffees are distributed equally among children in such a way that the number of
sweets received by each child is 20 % of the total number of children. How many toffees did each child receive? /

TS I0d P SR, 405 SITpA} B gol | 39 PR Jicl T fF TdS a= H1 o Tl B WS B 20%
<Ifh i UTed g3 1 U 9= Bi fdba-il ciftpar faelt?

1. 18

2.45

4.9



Correct Answer :-

18) By selling a steel almirah for Rs. 3,600, a merchant loses 10%. Calculate his loss or gain in percent, if he sells

it for Rs. 4,225. / T B TP ATHRI B 3600 TUY A 91 W TP ATIRT BT 10% BI g1 gidt gl afe
SR BT 4225 UL | 9T SITC oY I T 814 aTeit AT 37UdT g1 Id13it|

L
(== W
e =
=
|
)
=
—y
L
==
-2

~

19) The cube root of (483*483*483 + 517*517%517) / (517*517 - 517*483 + 483*483) is: / (483%483*%483 +
517%517*517) / (517*517 - 517*483 + 483*483) WW%

1. 50
2.52
3.10

4. 45

Correct Answer :-

20) Ahmed was sanctioned a personal loan of Rs. 1,00,000 from a bank, of which, he had to pay Rs. 20,000 to his
landlord; Rs. 3,000 to his partner; and with Rs. 35,000 he had to purchase a motor cycle. What is the amount left

with Ahmed? / 3[GHE 3 Th 9F A 1,00,000 BT TH-Te AN foram FoRIA | 20,000 IHA ABTH HIfer® B, 3000
3 UIdR &1 faT 3R 35,000 TUA B ITA T HIeR ASfPd W1 | 3gHeE & U fovas Ul 922

1. Rs. 43,000 / 43,000 ST

2. Rs. 42,000 / 42,000 30



3. Rs. 44,000 / 44,000 3UY

4. Rs. 39,000 / 39,000 ST

Correct Answer :-

e Rs. 42,000 /42,000 ST

21) Find the average of even numbers between 1 and 19? /1 T 19 F S o 9 YB3l o1 3 d WWI
1. 12
2. 10
3. 14

4.8

Correct Answer :-

22) Find the average. / Gﬁﬂﬁ ﬁﬁﬂﬁl’&l
16, 21, 26, 31, 36 & 44

1. 26

2.29

3.25

4. 30

Correct Answer :-

23) Sana collected coins in a bag. She was able to collect 500 coins of 25p and 600 coins of 50p. One day, she
removed 25% of 25p coins and 30% of 50p coins from the bag. What percentage of the money did she remove

from the bag? / TIT A Uh T # RYah 33 fhT &1 3T 25 U] & 500 e 3R 50 IA F 600 Fyad 555
glzl wﬁ;qwﬁaﬂﬁzsﬁﬁ%%%ﬁa%?&ﬁvsoﬁﬁ%?so%ﬁa%?ﬁmaﬁm 399 1§ faq ufa=ea

1. 28.5%
2.25%
3.33%

4. 30%

Correct Answer :-

e 28.5%



24) Presently, Grandpa Billy is thrice as old as his grandson Jake. Ten years ago, Jake was one-fifth Billy's age.

What would their (Jake, Billy) ages be after ten years? / aHT | grar faeft sru= vl e B g tg ﬁl"ﬁ %'I
10 T UG 9, fIeh Y g BT 1/5 UT1 10 T 91E 37T (@F,f3et) F 3y forat grfi2

1. 20, 80
2.20,70
3. 30,70

4. 30, 60

Correct Answer :-
e 30,70

25) The difference between two numbers is 393. When the larger number is divided by the smaller the quotient
is 2 and remainder is 50. What is the smaller number? /?ﬁ @3 BT 3iav 393 %I old 335& QT B DIt BT
§ YT T ST 3 a1 WRTGd 2 TUT AYHE 50 311§ | DI TSI S A 32

1. 263
2. 343
3. 366

4. 443

Correct Answer :-

e 343

26) Which one of the following four addresses is NOT EXACTLY same as the one given below? / e o0 T IR ual

# 9 2 e M vd & St w9 D19 91 T T8 o7

Barbara Blais,
H-2051 Biatorbagy,

Paul Hartmann u. 6, Hungary

(i) Barbara Blais,
H-2051 Biatorbagy,

Paul Hartmann u. 6, Hungary

(ii) Barbara Blais,



H-2051 Biatorbagy,

Paul Hartmann u. 6, Hungary

(iii) Barbara Blais,
H-2051 Biatorbagy,

Baul Hartmann u. 6, Hungary

(iv) Barbara Blais,

H-2051 Biatorbagy,

Paul Hartmann u. 6, Hungary
1. iii

2.1v

3.1

4.1

Correct Answer :-

27) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / =
3 1S g A, 3rerRY 3R Wemait @1 v wH fAfgd &1 Taa WaeE vgaie:

i.iiju10014uiji

ii.iigu10014uiji

iii.iijju10014uiji

iv.iijul0014uiji

1. il

Correct Answer :-

o il

28) A successive discount of 20 % and 10 % are equivalent to what single discount? / 20% Gﬁ? 10% I

PiU® Pe TP 1Y fHa-it ghft



1.22%
2.25%
3. 28%

4. 30%

Correct Answer :-
e 28%

29) The present ages of X and Y are in the ratio of 3:2. If the difference between the ages of X and Y after
12 years is 15. What is the present age of X? / X 3{R Y & 90T 3Tg $T uTd 3:2 81 Al 12 A1 918 X
3R Y FY 3TY FT 3ia” 15 8 ATaT B, af X $ gdar g farait 82

1. 45
2.27
3. 15

4. 35

Correct Answer :-

30) The runs scored by Muttiah Muralidharan in six one-day matches were 47, 56, 112, 28, 59, and 34.
What will be his average score? / 6 ¥ & G391 YRefteR GIRT ST 7T TR 47, 56, 112, 28, 59 3R 34 B,
IIPT 3T TR fha-r 82

1.55
2.54
3.57

4. 56

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)



Various expenditure in percentage is given in the below pie chart. Which of the following two expenditures

together have a central angle of 108°7 / fd#=T m @ & AOfdes g9 gided § & 9w %I
eofag 7 @ oiT & &1 T AdaT 108° & HalT I g2

Expenditure

1. Education and Clothing / fRrem 3R I
2. Food and Others / QT 3R 3=

3. Fuel and Education / é‘iF'f 3R fRrem

4. Housing and Clothing / 3TdT¥ R T

Correct Answer :-

« Education and Clothing / fRrem 3R I

2)
In the given figure, AB is parallel to CD and AB =EB, £CBE = 20° and £BCD = 30°, then £EAB =7/ few aw

&1 & AB. CD & @HIAGR & 3R AB=EB.sCBE=20° 3{R 2BCD =50°, @l ~EAB="7

A, 7B
N Er
W
C D

1. 65

2.75

80°



o
4,30

Correct Answer :-

o

« 75

3) If#+ (x+2)=(x+2), then # stands for: /T £+ (x+2) =
x+2.d # _ & 9T 9god g3m

1.1

2.x2—4x +4

3.x2+4x+4

4.x%2+4

Correct Answer :-
o X2 +4x+4

4) Fex) + H20(g) —- = FexOs vy + Hie

X and Y are respectivelv: /X @2 Y &AM &

1. Solid : solid / 319: 3
2. Gas : liquid /9. 59

3. Liquid: solid / &a: 31
4. Solid : liquid / 319: &d

Correct Answer :-

« Solid : solid / 319: 319

5) Ifthe angle in a minor segment is x° and in the major segment is v, then: / ITE T oy s #

EFTUTXG% BﬂTéTé'EFS' ﬁy“%,FlT:



X%+ y® = 180"

6) A certain sum of monev amounts to Bs. 678 in 2 vears and to Rs. 736 50 1n 3 %yea_rs_ The rate of

interest is: / 44T T v FAfewa f¥r 2 awt # 678 w9 ik & 3R 32 awt # 736.50
T3 g &1 sarer T X B

1. 7.5%
2. 7%
3.6.5%
4. 6%

Correct Answer :-

« 6.5%

7)

2797 . 2797
The square root of 21 — ;15:,:“21 :EEEFF TAAA b :

Correct Answer :-

PEL

2
o8



8) A shopkeeper offers 10% off-season discount to the customers and still makes a profit of 26%. The
cost price for the pair of shoes marked at Rs.1120 is: / TP gPTqIR 3= mﬂaﬁﬁ 10% W—?ﬂ\?ﬁ
Fe o1 8 3R fbr ot 26% &1 ATy HUTET B 1 a1 B NSt o WR 1120 TUA Sifpa U1, 39HT ARG

TR

1. Rs. 800 / 800 T

2. Rs. 750 / 750 ¥UY

3. Rs. 1008 / 1008 TG
4. Rs. 1000 / 1000 TG

Correct Answer :-

« Rs. 800 /800 3T

9) Which of the following expressions is equivalent to (915)% ? / fafafeaueid 9 Cack:| (915)2 &
THBE B2

g}15X15
. (3)

(9 x 2%z
2.

(9)5x2
3.

Q 3 g15%15
4, ( )

Correct Answer :-

{:9:}15)12

10) If the diagonals of a rhombus are 6 m and 8 m, then its side is: / gfe '\"-I'Fﬁlﬁ'lj\_r[ & fawof 6 Hiex
3 8 Hiex &, O S YT 8 :

1.2.5m /2.5 HicX
2.10 m / 10 HieX
3.2m/2HiR
4.5m/5HieX

Correct Answer :-

e 5m/5HieX



11) The digit in the tens place of a two digit number is 3 more than the digit in the units place. Let the
digit at units place be x. Then the number is: / & 3] BT T H A I BT 3, E_CFI'QF RFA &
3% ¥ 3 AP 71 A AT, THTS I W x 3 5| Y HLAT 6 :

1. 10x + 30
2.10x +3
3.11x+3
4, 11x+ 30

Correct Answer :-

« 11x+30

12) The number of square tiles required of size 20 cm to cover a square courtyard of area 64 m? are: /

?euﬂ‘az ATPd & T ST & TARUT P 7T 20 AH & MMHR & I WU B MTIGD AT

1. 800

2.2000
3.3200
4. 1600

Correct Answer :-

« 1600

13) The smallest even number whose square root and cube root both exists as a natural number is: /

AYTH TR ORI e ok o9g@ S Wi fae wen & U d faeme &
1.32

2. 64

3.8

4. 16

Correct Answer :-

14) The unit’s digit of cube of 833 is: / 833 & Y- BT SHIS AP & :

1.3



2.9
3.1

4.7

Correct Answer :-

15) The length of the fence of a trapezium shaped field ABCD is 120 m. Side AB is perpendicular to the
parallel sides AD and BC. If BC =48 m, CD = 17m and AD = 40 m, then the area of the field is: / TP
U PR & &F ABCD & 918 P G313 120 Hiex 81 YT AB, HHIR YoI13if AD iR BC &
@Iad g1 af¢ BC = 48 Hiex, CD = 17 HieX 3R AD = 40 Hiex 3, 1l A P &A% e & :

1. 660 m? / 660 HIc32
2.330 m? / 330 Hiex2
3.1360 m2 / 1360 Hiex2

4, 1320 m? / 1320 Hie32

Correct Answer :-

« 660 m2 / 660 HIc32

16) Which one of the following metals is NOT magnetic? Aotk kK kank: I ﬂ'@?ﬁ'ﬂ q'eﬁiﬁ'cﬁ %?
1. Iron / QI8

2. Stainless steel / T TId

3. Nickel / ffcbet

4. Steel / &Id

Correct Answer :-

« Stainless steel / TTAT T
17) How many natural satellites do the planet Mars have? / I e o fraq m@ﬁm B'CI"JI'E%'?
1.3

2. None/@“—ﬁﬂﬁ
3.2

4.1

Correct Answer :-



e 2

18) World water day is observed on ./ fayvafiaw &\ AT ST & |
1.22nd March / 22 ARt
2.21stMarch / 21 HM
3.23rd March / 23 ]

4, 30th March / 30 AR

Correct Answer :-
« 22ndMarch / 22 \TE

19) Raju had a fall and doctor told he has tendon damage on knee. What does it mean? /Wﬁ?q@ﬂ% Gﬁ?

SIFe A I Ia1T § 6 Yo R Hew eiforvra gan 31 s Fam o 32

1. Tissue which attached muscles to bone got damaged | AU @ \m‘@{@[\—:ﬁsﬁww eforra g1 T B
2. Tissue that join the bones got damaged / &r@n‘rﬁﬁh@ﬁw Hddh &m%ﬁfW%l

3. Bone fractured / &F@JET&F%I

4. Muscle at the knee got damaged /@Eﬁwwmﬂaﬁ m%ﬁf"lg%l

Correct Answer :-

« Tissue which attached muscles to bone got damaged / AU DI SRY S - Tel Sl &ffud gl TI'EIT%I

20) What causes peptic ulcers? / ma’mﬁ?\‘ﬁ? WT@%%’-’
1. Staphylococci /@'WW
2. Salmonella /ﬁ@lﬁ?ﬂ

3. Helicobacter pylori / %W g 35’] 3
4, Leishmania /Fﬂ'-‘!'lﬁﬁm

Correct Answer :-

. Helicobacterpy/ori/% APIgde U 35i 3

21) The epithelial cells which are flattened, closely packed like tiles on the floor are: / Ul HIRAT Sife

TUL §, 9 BRI R T15dl @1 avg Fide ©u A pfed 8, gl 8
1. Squamous epithelial cells / e ITHAT HIRABTY
2. Ciliated epithelial cells /memaﬁw

3. Columnar epithelial cells /F‘TW IUGdA B |§I$IQ



4, Cuboidal epithelial cells / TFTH IUEHTT HIRBTY

Correct Answer :-

« Squamous epithelial cells / X! IUGTAT BITADHIY

22) Girth of the stem increases due to . /AT @t i P PRI B

1. Lateral meristem /‘IIT-‘QEf favsar
2. Intercalary meristem /3fadeifaysar
3. Vertical meristem /3 &@afeRfaHsar

4. Apicalmeristem /iRy faysan

Correct Answer :-

e Lateral meristem /tIT-‘&_q; favsar

23) Which of the following produces seeds? / fadd s dw IcaTfed Hedr %?
1. Thallophyta / ﬁ?ﬁtmsa

2. Pteridophyta RRSI®Rer

3. Gymnosperms m@ﬁ

4. Bryophyta / STATGIZCT

Correct Answer :-

e Gymnosperms A%@?qfr

24) Microorganism that convert dead plant and animal parts into humus are called: /a'\‘j\&ﬁiﬂﬂﬁqﬁﬁ%ﬁ
TYT g 9] & vl o1 ggu ® ufvafda #3d §, 3% #ed o:

1. Decomposer / AUUCH
2. Herbivore / RMHTERT
3. Carnivore / HEERI

4. Producer / 3dIqdh

Correct Answer :-

» Decomposer/ ATHUCH

25) It is difficult to move a cycle along a road with its brakes on because: | TSP WR 9P & ATY ATBIPd

TATT YR giar & FifP:



1. Static friction is less than rolling friction /@WWWW@W@W%I
2. Sliding friction is less than rolling friction /ﬁmwmﬁﬂmgl
3. Rolling friction is less than static friction /WWWW@TW@W%I
4. Rolling friction is less than sliding friction /WW@W@W@W%I

Correct Answer :-

« Rolling friction is less than sliding friction /WW@W@[WW%I

26) Test tube baby means: /%Reqaé—q%mma%:
1. The embryo grows in a large test tube. /Wwa@é@aﬁﬁm%

2. Fertilization and development of the embryo takes place in the uterus of the mother. / S 3R YUl CARCEAR

HIT & THIRE A gid1 8|

3. Fertilization and embryonic development up to a certain stage occurs in the test tube. /Wﬁ@ﬁ SHIRT doh

e iR yofta farg ¢ @ A BT 2|

4. Fertilization takes place in the body of the female and development of the embryo takes place in the test tube. /

fISe Afge & IR H BT 3 3R YU HT b ¢ @ A gl & |

Correct Answer :-

« Fertilization and embryonic development up to a certain stage occurs in the test tube. /Wﬁ'@ﬁ HIRT doh

e iR Yot fawrd e @ A T g |
27) Burning of a matchstick is an example of: / AT B} el BT ST SUHT TP ISIEIV 7:
1. Spontaneous combustion / ¥d: Gg
2. Ideal combustion / 3Te®f &=
3. Slow combustion / #1HT &g

4. Rapid combustion / R &g

Correct Answer :-
« Rapid combustion / 2SI gg

28) When electric current is passed through water, water dissociates into hydrogen and oxygen. Hydrogen is
deposited at: / 919 fagad WaTe &1 5a A yaTied far STan 8, @ 9d g1gs i SN Sifaqiter o faaifora g) wiran @
| ST SIS 33 UR STHT g1 STl 3%

1. Neither negative nor positive / - ?3[ FUTHD 3R Eﬁ YITHD

2. Negative electrode only / Hddl BUTHD AT

3. Either negative or positive / 1 q BUTHS AT YATHD



4. Positive electrode only / had Y- ENEHS

Correct Answer :-

» Negative electrode only / HId BUTHD 3@3@3

29) Ina food chain, the third trophic level is always occupied by: / ET<l ﬂ@?ﬂﬁ Q?ﬁ“qlﬂw TR qea
P GRT AR §IaT 6:

1. Decomposers / SUUCH
2. Carnivores/m

3. Herbivores /W
4. Producers / STTGH!

Correct Answer :-

. Carnivores/ﬂm

30) If 2x + 3y = 14 and 2x — 3y = 2, then the value of xy is: /Tlﬁ2x+3y= 14 3ﬁ?2x—3y= 2, ?ﬁxy
FHIAFE:

1. 17
2.8
3.28

4.13

Correct Answer :-

e 8



